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Question Description What does the laffer curve show?
TR =k F4T a9ar 872
A It shows the relationship between the revenue and expenditure of the central and state government.

TE w2 TS G & OeT A AT & G S i &9dr 8 |

B Rate of return on the investment
FersT 9% qroeET dr aw
C Relationship between total tax revenue and corresponding tax rates.

FeT 7 TTET I HETaT a7 (SHT ) T & a9 ga |

D Tariff rate policy of the government
YA H TH 7 AfT
Correct Answer C

Marks



Question Description

Cc

D

Correct Answer

Marks

Question Description

Correct Answer

Marks

Through how many Indian states does the Topic of Cancer pass?

Fdh T BT AT T T | &l ITSTear 82

The Global Wealth Report is published by?
TS aeer FATE feeR g SR are & STt 82

Capgemini

ExEIEE

Credit Suisse

FfezgeT

Oxfam International

AFTRT ST

World Economic Forum

faog srhiw A=



Question Description Match List-l with List-Il and select the correct answer by using the codes given below the Lists-
- & g=7-1 7 gHAT fT 7 T= &U T §ie & TI0T & 96 397 gAU-
List-I (Kingdom)

- | (7T )
A) Peshwas
qIEr

B) Gaekwads
NIREEIE]

C) Bhonsles
Tieer

D) Holkars
ETehy

List-1l (Territory)

AT 1 (87)

1 Nagpur

2 Pune

T

3 Indore
ECd

4 Baroda
EEIC

A A-2 B-4 C-1D-3
B A-1 B-3 C-2 D-4
(] A-2 B-4 C-3 D-1
D A-4 B-3 C-2 D-1

Correct Answer A

Marks



Question Description

Correct Answer

Marks

Consider the following statements about the Genome India project

ST Efear Ti ST & av § ffafad @yt 97 fa=w S

1. It is an initiative of the Ministry of Health and Family welfare

T T AT TR Fe 107 ST 1 U T8l &

2. It will do the Whole Genome Sequencing (WGS) of one million individuals representing the country’s diverse population
g &7 A (Al AETRT & TR e i ATl & AT S aaqd it & St qraa e T (WGS) & |

Which of the above is/are correct?

STET H F S ATE TEr 8 /8 ?

1 only
FaeT 1

2 only
F 2

Both 1 and 2
13 2T

Neither 1 nor 2
Tar1=iwTar2

D
2



Question Description

Correct Answer

Marks

Which of the following “laws” is Asimov’s first and most important law of robotics?

Fretferfare 5 & 1 AT AR SR i AT A TR Y FaE HE e e 8 ?

Robots must make business a greater profit

TETET F ATATT F ATIFR AN &7 18T

Robots must follow the directions given by humans

T F AT 1T BT T {EITT @l I weAT A1a @

Robots must never take actions harmful to humans

THIET & FT T AT & (70 &R F0 Ta) ST a1ey,

None of the above

ERMES R TER D

C



Question Description Consider the following Committees on Panchayati Raj and arrange these in chronological order:
AT T 97 Ao GfEfaat o7 fa=w & 07 39 fAhEE i H AaeId &
I. Ashok Mehta Committee
A HEdT afdfT
II. L.M. Singhvi Committee
uAuH feear afefd
Ill. B.R. Mehta Committee
T2, g ar affa
IV. G.K.V. Rao Committee
ST AT, T et
Select the correct answer from the codes given below.

T BT T fie & ITENT &7 Hqal IO A q9T AT

A I, 1 11, 1V
B 1, 1, 1v, 1
Cc I 1, 1, v
D 1,1, v, 1
Correct Answer B

Marks 2



Question Description The interaction between algae and fungi to form lichen is called.

ATEhT T & [T IaTeT 3T Fdeh d SS9 F Hal Tdr & |

A Parasitism
EESIEIEICS

B Mutualism
IRETRHRAT

C Commensalism
EECISEICS

D Conversion
L IR

Correct Answer B

Marks 2



Question Description Which of the following are among famous works authored by Dara Shikoh?
freferfa & & & awT forere g fofad wieg sfar a e g2
1. Majm-ul-Bahrain
A -3 AR
2. Sirr-i-Akbar
far-T-sraT
3. Khazin-ul-Futuh
Select the correct answer:

Tar 397 & TG

A 1 only
FaeT 1

B 1and 2 only
Fae 127 2

(o 3 only
FaeT 3

D 2 and 3 only
FaeT 2 37 3

Correct Answer B

Marks 2



Question Description

Correct Answer

Marks

Galvanized iron is coated with-

ST ATaT e ary A ardr a-

Aluminium

TR

Galena

B

Silver

arar

Zinc

EED

D



Question Description The Election Commission of India is responsible for the conduct of elections to which of the following offices?
W & AT AENT A=A fad 7 & i FaTeT & (A0 919 v & (G0 Feaw 872
1. President
TSt
2. Vice-President
ERICE N
3. Parliament
g9
4. State Legislature
T famEser
5. Panchayats
EEIEE]

Which of the above options are correct?

IIET H T S e qarg?
A 1,2 and 5 only

FaT 1,235

B 1,2, 3 and 4 only
Fad 1,2,3307 4

C 3 and 4 only
FaeT 33 4

D 3,4, and 5 only
FaT 3, 4375

Correct Answer B

Marks 2



Question Description

Correct Answer

Marks

Question Description

Correct Answer

Marks

Which of the following statements best describes the judicial doctrine of severability?

FeTfofae 5 & FF 9T F9= TIFRgar & —ATaa fgid a0 999 =37 a0 HLar 82

Rule of interpretation of legislative competence under Article 246 of the Constitution.

Hfaam & AT=85 246 & qad [qHTET &7Far $ SHTEAT & AFH |

Separation of unconstitutional parts of legislation from constitutional portions.

FET & AHATHE feedT & HaTHa (edT & ST feT |

Power assumed by the Centre under National Emergency to eclipse powers of the states

TSIt F ST TR d0 (AT LT ATTRA & qael dx G TR & TS I

Dormancy of pre-constitutional laws inconsistent with Fundamental Rights

Htfera STTaarT & arer ST qq-HaaTHaE ST A Afshaar

B
2

The phenomenon of marble cancer is due to:
AT HEY & ST wFET R

soot particles

FT & F T

Fog

FET

CFCs

HrowReEr

acid rain

STEAT AT

D



Question Description

Cc

D

Correct Answer

Marks

Consider the following events-
Aefefaa gearsi 1 fa=m fifa-
1. Gandhi-lrwin pact

g aE=Er

2. First Round Table conference
JE T TAHS A

3. Simon Commission

ATEHT HATIT

4. Poona Pact

IAT 99

The correct chronological order of these events is —

ST FEATA T Fa&T FATThEE FH & -

1-4-3-2

2-1-3-4

3-2-1-4

2-3-1-4



Question Description How does climate change (global warming) affect human health?

9T TFaa (global warming) HHE EaTET & el SHTTaa HvdT 872
A By increasing illnesses such as heat stress, cardiovascular disease and kidney disease

BT T, FaT T S % ST STAr At 7 iy

B By increasing respiratory illnesses such as asthma and allergies

HEHT AT TAS 4T A Faer qorrar F ghg

C By increasing insect borne infections such as dengue fever
I gEW SH dE THT SR g

D All of the above
FITET AT

Correct Answer D

Marks



Question Description Replacement level fertility is the level of fertility at which a population exactly replaces itself from one generation to the next. Consider the following
statements in this regard
TTTETIT &7 I9VAT I9VAT & a8 Tq7 & B I ST U Ter & g4 el & S0 31T & Aol a8 ofdl 8 | $9 ga9 § feforfad a9t 9 fa=w i
1. Replacement level fertility is normally taken at 2.1
TTEITIT =% & TS &THaT ST € F 2.1 I AT ST 8
2. All states in India having fertility levels over the Replacement level
VI & FIT TSI H TS & Taedma a7 F afaa &

Which of the above statements is/are correct?

IRFT H T Tl AT/ F9 T8 5/2?
A 1 only
FaeT 1
B 2 only
FaT 2
(o3 Both 1 and 2
T 1307 2
D Neither 1 nor 2
TAT 1 SATTE 2
Correct Answer A

Marks



Question Description

Correct Answer

Marks

Resilience Rating System has been developed by which of the following economic institution?

ifeds T e Retafad & & e s S g7 faaf ar @ 82

World Bank
[EEEEED

International Monetary Fund

T

UN Conference on Trade and Development

ATV 37 (Fa 97 Ggad TS G

World Economic Forum

ELERCIREREE

A



Question Description

Correct Answer

Marks

Recently seen in the news, SUPACE and SUVAS can be best described as
BTCT & § 9NN H 21 74T, SUPACE 3iT SUVAS & §aiad &9 & aiurd aT ST 9l &

advanced ISRO projects aiming to develop small satellite launch vehicles.

B ITUE TaTUT ATEAT A (AR 0 & 899 § I=~1d 599 TRAET |

artificial intelligence tools for increasing the efficiency of the Indian judiciary.

AT =TT i &0 dT a6 & (A0 i aH rGATT STH |

sports program to increase the number of Indian athletes qualifying for olympics.

AT & (AT STEAT AT Fo T qTor IR TIeAE ] & ST agH & (o0 &l dahe |

projects for easing the access of credit for Micro Small and Medium Enterprises in India.

I H GaW, A A T ITAT & (AT 0T H G5 F G a9 & (A TS |

B
2



Question Description

Correct Answer

Marks

The National Disaster Management Division in India is the nodal division in the Ministry of Home Affairs for disaster management. Who is the Ex-officio
Chairman of the National Disaster Management Authority?

I 7 IS SATTRT TET THIT 3AT9aT TS9T 8 T8 HATAT & ST A1SeT [S91eTT & | TSl STYaT TS ATHaRr & 9T 3TTel i & 7

The Prime Minister

LRI

The Home Minister

TR HET

The defence minister

T HAT

The President

TSt

A



Question Description

Correct Answer

Marks

Question Description

Correct Answer

Marks

Which of the following reasons of rainfall during winters in north-western part of India?

T & IC-TTI=ET AT 5 Siaahret & a1 9T &0 FeTforiad 5 & i |7 e 8?2

Cyclonic depression

ThRATAr ATETE

Western disturbances

afe=r faamr

Retreating monsoon

I gear (T9EITT) AFET

Southwest monsoon

aferor Tfv=m AR

B
2

Which of the following part of the Indian Constitution describes the responsibility of the state towards promoting international peace and security?

AT ST & ReTfofad 5§ & &l a1 qIT STaerserd 9 ST G2t & agTaT & & (AU 5T d FEaErT & qu= &7dr 8 2

Fundamental Rights
Ttfera srfaam

Fundamental Duties

qifeta e

The Directive Principles of State Policy

T AT & feos fmgra

The Preamble of the Constitution

ICRICE R EIEE

C



Question Description Which country has introduced new emissions standards for new and repowered fossil fuel-fired power generation units in 20237

e 39T T 2023 H AU 37 QAR STTAT S5 F T aTeAr @SAr IeHTE SHEAT & (U AT IeasTT HHd J97 T E?

A UAE

HIFT AT AT
B Singapore

i a

C Malaysia

eAtsrEr
D Israel

ESMERE
Correct Answer B

Marks 2



Question Description The Chief Election Commissioner can be removed from office by
= AT AL FT A 9T T 5T 7 qahedl &

A Both Houses of Parliament by two-thirds majority in each House

HHE & &1 aaAl § Todd G5 H al-[dars agad &

B The same procedure which applies in case of removal of Supreme Court Judges

FE TTRAT ST qaT=T ~ATATAT & =TT & g2 & AT § A1) &rr &

C The President of India in consultation with the Chief Justice of India

T & HYeA AT & THY § 97T 6 ST gIT

D The President on the advice of the Council of Ministers
Hfaroie i gt I TS g
Correct Answer B

Marks 2



Question Description

Correct Answer

Marks

Who was the first woman to become a Chief Election Commissioner of India?

W & 7Y 1T ATET a4 areil Taeal JigeT di 97?2

R. M. Nikam
AT UH R

S. K. Bedi
UH & a4t

V. S, Ramadevi
ar U AT

G. D. Das
ST Erae

C



Question Description Match List-I with List-Il on the basis of codes-
FreTerfere & & A9 T G- # g1l & gafer Fri
List-I (Mughal Ruler)

- | (T 1)

A) Babur

EIEES

B) Humayun

AR

C) Akbar

HRTL

D) Jahangir

SRRt

List— Il (Place of Tomb)
T - || (AT 3T &I)
1 Kabul

FGA
2 Delhi

e

3 Sikandara
[SETN

4 Lahore

AR

Codes:
3

A A-1B-2C-3D-4
B A-2B-1C-4 D-3
c A-3B-4 C-1D-2
D A-4 B-3 C-2 D-1

Correct Answer A

Marks



Question Description If there is a lack of money supply in comparison to the supply of goods and services, then the possible consequence would be

T TG UF AT i YT F AT F HET AR H AT E, a7 q9ad: &N
A Hyperinflation
Frfer et
B Deflation
STTERTT
C Devaluation
HAFHAT
D Inflation
qETEher
Correct Answer B

Marks 2



Question Description The theme of Mara-Vijaya during Buddha's Mahaparinibbana was depicted in which of the following caves?

Tg & HRFRATr & S ART-fawrr & faver @ ferfearfad & & B o 5 29T @ ar?

A Ajanta caves
. .
B Ellora caves
[ ﬂ .E
C Elephanta caves
s .
D Nachna Kathura caves
AT FYIT IR
Correct Answer A

Marks



Question Description Which among the following is correct in context with the White Label ATMs (Automated Teller Machines)?

FEE AT TETUH (AT ST T & G2 H {eAferfad 5 & FiF 91 9ar 82

A ATMs owned by Foreign Companies
et gt & | arer Tere
B ATMs not owned by banks but by private ATM service providers.

TETUH Fahi & STHcT H Tal afod RSl TETOH JaT TEarsi & S@rHe # & |

C utsourced ATM Service by Banks — The ATM named under a brand sponsor bank but ATM machine not owned by the Bank
! EIT ASHT USTUH 4T - U §1S ATHSTF 9 6 dad AT UETUH Afhe 3 & SaTHed aTdr TETUH J9T T8

D ATMs owned by Government
AT & ST ATl TETuH
Correct Answer C

Marks



Question Description Which of the following Articles of the Indian Constitution contain the Right to Religious Freedom?

A ST & fTofad 7 & e S=as § STHE saa=dr @ Araar ffed 872

A Articles 25-28
A=ug 25-28
B Articles 29-30
F=gg 29-30
C Articles 32-35
o=, 32-35
D Articles 23-24
FT=aR 23-24
Correct Answer A

Marks



Question Description

Correct Answer

Marks

Consider the following statements regarding the Government of India Act of 1858.

1858 & YA A¥dT. ATTHIT & da § Al &9+ 9% @9 ffH0 |

1. It transferred the powers of Government, territories and revenues to the British Crown from the East India Company.
THT YT, AT Y e i Siaat @ $e T S & Friewr shra i geiata i /4w

2. The Secretary of State for India was vested with complete authority and control over Indian administration.

T & 59 THT & ARG F9TE 97 T AT 7 AF=or &=m &r v

Which of the above statements is/are correct?

TR FIATH T RIT-AT/T Tar a/a8?

1 only
FaeT 1

2 only
FaeT 2

Both 1 and 2
13T 2 T

None of the above

ERRERR=R: TR

C



Question Description Recently seen in the news, Nord Stream 2 pipeline runs between which one of the following pairs of countries?

BTT &7 7 AT 7 3T AT, A7 ST 2 TETATS A iarad § o e a9 & 9 9dqdqr 872

A China to Germany
I & SHAT

B Russia to Germany
G T AT

C Russia to United Kingdom
= H gA5ES s

D Germany to France
SHATH

Correct Answer B

Marks 2



Question Description

Correct Answer

Marks

Thwaites Glacier, sometimes referred to as the Doomsday Glacier, is located in which of the following regions?

JATEET T 9, e ir-air s0qe T forge &ar siar &, Fefafad & F e e & fera 872

Arctic Sea

TS anTe

Antarctica

e

Siachen Glacier

SRUCERIIRRES

North Sea



Question Description

Correct Answer

Marks

Consider the following qualifications for the office of High Court judge.
I=F IATAT & T & 9% & (A0 F=fotad angarat 97 fa=w #fT
1. Held a judicial office for at least ten years

FH T I T a9 deh TS I8 I¢ Ear

2. Advocate of a High Court for at least 15 years

T = =ETEE § & g & 15 a¥ ad AfageEqr

3. An eminent jurist in the view of the President.

et i gfse & ua e fafaasar

Who among the above is eligible for the post of High Court judge?

IINFT H H A I=F FMATAT & AT 6 TF & (AT T & |

1 only
E

1 and 2 only
FHae 1307 2

1 and 3 only
FgeT 1307 3

None of the above

ERRESRRC TR

A



Question Description Mandu in Madhya Pradesh was inhabited by Paramara Rajputs, Afghans, and Mughals. Which of the following can be found at Mandu?
T TSI H ATE AN YA, AR 2 JIet & fare o | fafafad § § #9 qrg 7 fera 82
1. Rani Rupamati’s Pavilion
TFT ETAAT & HST
2. Jal Mahal
STeT HeeT
3. Jama Masjid
ST qfEsTE

Select the correct option code:

Tar fadeT fie 7 997 T

A 1and 2 only
HaeT 1 37 2

B 2 and 3 only
FIT 2 37 3

C 1 and 3 only
FaeT 1307 3

D 1,2and 3
1,230 3

Correct Answer C

Marks



Question Description B. C. Roy Award is given in the field of

T T T R & T H RAT ST &
A Music
I
B Journalism
LEEIIGI
C Medicine
afefe
D Environment
JITEr
Correct Answer C

Marks



)

Question Description Consider the following statements with reference to the ‘Hamari Dharohar Scheme’:
"SHN 9UET AT & Hed H A Ead &1 9% [9=m S
1. The Union Ministry of Culture launched this scheme.
FET HERIT HATAT T T AT T IFAT & |
2. This scheme provides for curating rich heritage of minorities.
T FISTHT ATE AT H TG, (e i SN 7 AT Fdl & |

Which of the above statements is/are correct?

IS H F i a1/ F9T Gar 8l ?
A 1 only
FaeT 1
B 2 only
FaeT 2
C Both 1 and 2
13T 2 TAT
D None of the above
SFT H F #E Tar
Correct Answer B

Marks 2



Question Description What is the position of the Right to Property in India?

W 5 G o SATHehe & &4 ferfa 872
A Legal right available to citizens only
FHIA ANTERT & (AT ITAST FAT ATIHT
B Legal right available to any person
e T st & AT Iaeresr T Afaae
C Fundamental Right available to citizens only
Hifers e Fiaer aRTfaRT & (T I9ersT
D Neither Fundamental Right nor legal right
T ar At AT 7 T & Fer At
Correct Answer B

Marks 2



Question Description Name the gland that controls the functioning of other endocrine glands.

I UTT AT AT TATST ST AT ST HTAT TPTAT & FEATOTAT & AT Foar & |

A Pancreas
I

B Pituitary gland
9 uf=r

C Pineal gland
Graer ufer

D Adrenal Gland
srfugas ufr

Correct Answer B

Marks 2



Question Description

Correct Answer

Marks

The word ‘Twin Deficit’ is often seen in news in the context of economic planning. What does it relate to?

T TR wret oTeaY TN § At FAT & ST § ST ST & | SHE T e 872

Fiscal deficit and Current account deficit

TSI =TT 3T ATe] A1 91er

Current account deficit and Capital account deficit

7] AT =1eT A7 IS AT =t

Capital account deficit and Fiscal deficit

AT |TAT =TeT 3T TN =9reT

Budget deficit and Fiscal deficit
FTe =TT AT ARSI =T



Question Description

Correct Answer

Marks

Consider the following statements about Malik Muhammad Jayasi:
AT Je0% A4l & a8 H AT Ead &A1 19 (9= @i

1. His celebrated work Padmavat was written in Urdu.

I T Ff T=HTET 35 H o T o

2. He was a contemporary of Sher Shah Suri.

T8 ST G 6 THEAAM o |

Which of the above statements is/are correct?

IS H F i a1/ F9T Gar sl ?

1 only
FaeT 1

2 only
HaA 2

Both 1 and 2
19 2 TAT

None of the above

ERRESR-RC e

B
2



Question Description Consider the following statements:
Aefefaa waer o fq=w @il
1. Peace and non-violence department is set up by the Uttar Pradesh government.
3T TSI GLRT G e 37 T8 ET (e ror i S o i e &
2. Telangana government launched Aasara Pension Scheme.
AT A& T AT 9T FSTT I & |
Which of the above statements is/are correct?

IS H F i a1/ F9T 9ar el

A 1 only
HaeT 1

B 2 only
FaeT 2

C Both 1 and 2
137 2 TAT

D None of the above

ITET H H #E T

Correct Answer B

Marks 2



Question Description The Global Competitiveness Report is published by the

A International Monetary Fund
HATTSET {27 AT

B United Nations Conference on Trade and Development
ATV A (a0 Fgad T G

C World Economic Forum
fawa srfiw 7=

D World Bank
[EEEEED

Correct Answer C

Marks 2

Question Description What is the main focus of the First Trade and Investment Working Group Meet being held March 2023 under India’s G20 Presidency?

T & G20 IT=TefaT & aad AT 2023 H AT TIH ST 317 {9 #1667 dF 9o & 7 Tad 34T 872

A Accelerating global trade and investments.
afvas =AM <A fESr 7§ aI AR

B Exploring new business opportunities.
FETT & AT AT & @ HIAT |

(o4 Discussing the impact of COVID-19 on global trade.

feaer =M™ 9% COVID-19 & 1T T F=7 &3 |

D Examining the role of digital currencies in trade finance.

T fa=r 5 ffifes garit dir yfFaw & ST fer |

Correct Answer A

Marks



Question Description

Correct Answer

Marks

Consider the following statement:

At auer 9 fq=r Sl

1. The Government of India and the Asian Development Bank have signed an agreement for the construction of the Green National Highway Corridors
Project (GNHCP).

T AYaT A UfETs fgae §& 7 09 99 815 #ifsK Thrde (GNHCP) & faTr & AT ua Jaeiia av gearay o &

2. GNHCP includes states of Himachal Pradesh, Rajasthan, Uttar Pradesh and Madhya pradesh.

GNHCP ¥ fEH™=eT Tesr, TeTes T, 397 Ta9 31T T2 T3 T ATHA & |

Which of the above statements is/are Incorrect?

TS 5 F &I AT/ F T AT B/

Both 1 and 2
13T 2 59T

2 only
FaT 2

1 only
FaeT 1

None of the above

IS B T TE

A



Question Description

Correct Answer

Marks

Consider the following statements about the National Antimicrobial Resistance Hub

IS AT FIqorer &9 & AW § Aefertad &9 97 fa=m i

1. It has been developed by the Indian Council of Medical Research (ICMR)

T AT FfReaT e 779 (ICMR) g7 faafere e mar &1

2. India is also a member of the Global Antimicrobial Resistance (AMR) Research and Development (R&D) Hub
A TATae UM hage vaeed (AMR) f9< U 397 e (R&D) &9 &1 T aae7 &

Which of the statements given above is/are correct?

IR R H T i AT TET A2

1 only
FaeT 1

2 only
HaA 2

Both 1 and 2
13T 23T

Neither 1 nor 2
Tar1=iwTar2

C



Question Description

Correct Answer

Marks

Consider the following statements about federalism in India.

A H §9q1R & a1 § A {orgd &4 92 (9= S|

1. Federalism has been declared to be part of the basic structure of the Constitution by the Supreme Court.
HIT=T AT T HHATE A AT & Jof @ & T 91 & @ g |

2. Article 371 is an example of asymmetric federalism which provides special status to some states.
A=gE 371 AT HHATE F ISTI0 & ST F5, Tod T A [q9rT ST T HedT 7 |

Which of the statements given above is/are correct?

IR R H T T AT TET A2

1 only
FaeT 1

2 only
HaA 2

Both 1 and 2
13T 23T

None of the above

IS H H AL TG

C



Question Description Wardha Scheme of Education was proposed by
T FITeIT ST & T e g BT T Ar?

A Dr. Radha Krishnan
S TEIIESTT
B D.S. Kothari
STUH. #Wewr
C W.W. Hunter
=g T=g 5L
D Mahatma Gandhi
—
Correct Answer D

Marks 2



Question Description

Correct Answer

Marks

Consider the following pairs:
Aefefaa geat 1 fa=w fifa:

1. Burzahom culture - Jammu And Kashmir
2. Ganeshwar culture - Madhya Pradesh
TOYGT HERT - 7T L9

3. Jorwe culture - Maharashtra

SR HER{T - HERTSE

Which of the above is/are correct?

IIET F H i-ATE a5 2

1 and 3 Only
137 3FHaT

3 Only
FaeT 3

2 and 3 Only
2 3 3 HaT

1,2and 3
1,273

A



Question Description

Cc

D

Correct Answer

Marks

Arrange the following Ramsar wetlands in India in order from North to South
AT H AFTToiaa THET A HET @ 307 | &0 & e § a9 ied dfT
1. Vembanad Lake

TS

2. Tso Kar lake complex

T T A THET

3. Kanwar lake

FAT A

4. Lonar lake

AR T

Select the correct answer using the codes below

A R/ T i i AT A q8 3 T
2,3,4,1
4,2,3,1
4,3,2,1
2,4,1,3

A



Question Description Dichloro-diphenyl-trichloroethane (DDT) is a.

SEFANT-RIHT- 28N 39 (DDT) &
A Biochemical pollutant
T TGRS TevE
B Non-biodegradable pollutant
NESC I PIIEOEEC R AL
C Biodegradable pollutant
EIRIEDEC R EAED
D Non-pollutant
RS EALD
Correct Answer B

Marks 2



Question Description

Correct Answer

Marks

Consider the following statements with regards to Zoonotic diseases
SATE® WA & Had § ffdfad @91 97 fa=w fii

1. It originates from an animal source and can reach humans

TE UE T AT & IcT~T &Il & AW AAT qd G5 Gl &

2. It can be bacterial, viral or even parasitic in nature

g Wi & STAT], AT AT TSar T & @l &

3. SARS-COV-2 is a Zoonoatic virus

AT -ArAAET-2 (SARS-COV-2) U S[ATE® qm&vd &

Which of the above statements is/are correct?

TR FIATH T R/ Tar a/a?

1 and 2 only
FaeT 1 37 2

2 and 3 only
FaT 2 37 3

1 and 3 only
FaA 1307 3

1,2and 3
1,297 3

D
2



Question Description In which of the following regions of India are shale gas resources found?
A & AEATeTfae 5 & e &0 5 9reT T SETe 9T S & 2
1. Cambay Basin
FE AT
2. Cauvery Basin
AT T
3. Krishna-Godavari Basin
FOT-IETE T
Select the correct answer using the code given below.

T BT T & & TN & Gar 397 gAT)

A 1and 2 only
FaeT 1307 2

B 3 only
FaeT 3

C 2 and 3 only
FIA 2 37 3

D 1,2and 3
1,297 3

Correct Answer D

Marks 2



Question Description Which of the following Constitution Amendment Acts made necessary provisions for the implementation of GST (Goods and Service Tax) regime?

Al & & e afaam Guma SAtafaT 7 GST (T Ua JaT &) ZHAET & ha=aa & [T Aa9Td TTaHH AU ?

A 101st Amendment Act
101aT g et
B 102nd Amendment Act
102 gt "wrae =rfarfa
C 103rd Amendment Act
103 & guma i
D 104th Amendment Act
104 g7 "wraer erfarfaT
Correct Answer A

Marks



Question Description

Correct Answer

Marks

Consider the following about the soils of India.
T &l [eer & av H ffafaq 9 fq=m @ik

1. Black soil dominates Deccan Plateau

TFRT & TSI T FAT el & T &

2. Laterite soil is widespread in the Western Ghats
orevrse faedr afv=ar gt § faearfa &

Which of the above statements is/are correct?

TR R H T RIT-AT/T Tar a/5?

1 only
FaeT 1

2 only
FHaA 2

Both 1 and 2
137 2T

Neither 1 nor 2
Tar1=iwTar2

C



Question Description Which of the following statements is incorrect with respect to Emperor Akbar?

YT AT & G § Fferfad 5 il 97 &&= TeAaq 872

A Akbar built a new capital at Fatehpur Sikri owing to its proximity to Ajmer

AT T FFedT & FT AFAT T HAg 7 Gl { Ud 75 ToraHr & AT war

B Akbar commissioned the construction of a white marble tomb for Shaikh Salim Chishti at Sikri

HARAL T G H I ot BT & [0 Ud T SIHHT 6 Taa? & AATT 3% AT

C During his reign, the capital was transferred to Lahore to bring the north-west under greater control

ITF I & SN, IAL-TT9= & STfae fa=or 5 A & (o0 TSTer & ATa Y ST i &Y G 9T 9r

D Buland Darwaza was constructed by him to commemorate his success in the Deccan campaign.

JoAE TTATSAT T AT I8 1+ GaFaeT ST & STIT TReAdT i T 8 FEErET &7 |

Correct Answer D

Marks 2



Question Description Which of the following statements is/are correct?
Frrforfae & & & a1/ F99 98 8 /8 ?
1. In 1965-66 the HYV (High Yielding Variety) program was started which is the starting point of the Green Revolution in India.
1965-66 F HYV (3TTerer IToT &7 aTeT freT) =i ST T 7T 9T ST W # & F shif & yfe fg &
2. Green Revolution was introduced with the Intensive Agriculture District Program (IADP) on an experimental basis.
gFe shTfa & ST AW 9% T &Y BT d=he (SMEUSIT) & 97 9% BT T o

Select the correct answer using the code given below:

T BT T die & TANT & Gar 397 gA T
A 1 only
FaeT 1
B 2 only
FqeT 2
C Both 1 and 2
ZET 137 2
D Neither 1 nor 2
Tar1=wTar2
Correct Answer C

Marks



Question Description Tulsidas, the author of Ramcharitmanas, was a contemporary of which of the following rulers?

TAALAHEE & = HdT qAdTa Aaad 5 9 @d IT9a & THaRe 972

A Akbar
HRIL
B Humayun
C Shahjahan
5 3\“
D Sher Shah Suri
AT ATE FA
Correct Answer A

Marks



Question Description

Correct Answer

Marks

Consider the following statements about the 'Sindhu Netra' satellite.

g = ITE & AW H fEfatadq @941 97 fa=w #@fw 1. Sindhu Netra will help India in enhancing its defence surveillance capabilities.
fERg ST W & 7T RITHT erF TS @ ae H HaR dalr |

2. It has been developed by ISRO.

T T G fasfaa far e g

Which of the above statements is/are correct?

IYUET FATH T HIT-91/T FEr e f?

1 only
FaeT 1

2 only
HaA 2

Both 1 and 2
1 2f% 2 7T

None of the above

ERRENE R E

A



Question Description

Correct Answer

Marks

Question Description

Correct Answer

Marks

Which of the following is called the Southernmost Himalayas?

Fremferfere & & B qaer afardt fearesr wer ST 272

Siwaliks

EENKED

Himadri

femmar

Himachal

IEGIER)

None of the above

ERRENE R ER

A

Which of the following Islands is NOT located in the Indian Sea?

Feforfaa & & @ a1 17 (e qemnm § fera T8 872

Madagascar

HERTERT

Seychelles

T

Republic of Comros
FAIT TS

Falkland
ETCIC

D



Question Description

Correct Answer

Marks

Consider the following about the Swamitva Yojana.

ST T & a1 H A tad 97 faaw #ifT |

1. The scheme is meant to create a record of land ownership in rural areas using modern technology.
T AT ATIHE qdeild F ITART Fieh UTHIT &30 7 [T & S@rfied & s g & AT |

2. The Ministry of Panchayati Raj is the nodal ministry for the scheme.

AT T HATAT ST & (AT 7S H AT & |

Select the correct option.

Tar fadmeT & 997 #hT

1 only
Faet 1

2 only
FaeT 2

Both 1 and 2
13T 2T

None of the above

ITET H H #E T

C



Question Description The maximum biodiversity is found in:-

Tattes S fafawar g s ae-

A tropical rain forests

IR ST qYT T

B temperate forests

JESAISIT a7

C coniferous forests

SN AT

D arctic forests

Al a

Correct Answer A

Marks

Question Description With reference to medieval India, Naubat Khana refers to which of the following?

TR R & G2 |, T @7 AETaigd § 9 e Se1ad 872

A A public bath
U HTaTRE ST 97

B A drum house or orchestra pit where music was played

U $H &T99 IT Al [He Sar @I7e aardr S «r

C Meeting house where spiritual leaders gathered

ToF 9T Tal ATAT HE TaT TH A & o

D Room which housed the women of royal household

Correct Answer B

Marks 2



Question Description

Correct Answer

Marks

Consider the following statements in the context of weathering
AT & He o H Al ad &¥-1 9 fa=m ST

1. Weathering process is independent of Climate

AT TFHAT AT & o &T &

2. Weathering process is only mechanical in nature.

AT TThAT FaeT AT T T S aar 2 |

Which of the above statements is/are incorrect?

TR FIATH T I ATE 0T 8/

1 only
FaeT 1

2 only
FaT 2

Both 1 and 2
1307 2T

Neither 1 nor 2
Tar1siwTar2

C



Question Description

Correct Answer

Marks

Question Description

Correct Answer

Marks

The pass located at the southern end of the Nilgiri Hills in south India is called

& e & e erfsat & afarvr B 97 e a0 & far ST g

The Palghat gap
qTAETE T

The Bhorghat pass
HETE &9

The Thalgat pass
JTAATE T

The Bolan pass

AT &

A

Which one of the following is used in preparing a natural mosquito repellent?

Wi T=aY ([aav e dTaW ®%T § AErad & & Fdear ST far ST 572

Congress grass

FUT =TT

Elephant grass

TATHE STE

Lemongrass

T I

Nut grass

e (@) 9T

C



Question Description

Correct Answer

Marks

Question Description

Correct Answer

Marks

NMC 2170, a term recently seen in the news is a?

NMC 2170, &TeT & & S9N 5 ST 73T 9% 872

India's first indigenously developed Lithium ion cell.

T 7 T5oT Se 9 w7 & fasfaa fafaaT s a7

recently developed an organic pest control mechanism by Indian Council of Agricultural Research.

T & H WA &Y e 79T g0 UF Sfad fie AF=or aoF fasfaa e mar g

modified version of CRISPR-Cas9 gene editing tool.
CRISPR-Cas9 S UfST Zo1 & Sutera Sehe |

name of a drug to cure cancer that uses nano-materials to target the organ.

FHT & SATT & (AT Ueh 9T & AT ST 30T 3 ATT FA & (AT AAT-HHUT F ITINT FHT & |

A

After cutting cucumber if salt is added, then water comes out due to

T Fe & a18 I THE [T Jar S a1 I= 1 fdver ST &

Active transport

gfshe TrasT & S0

Passive transport

ffsne afagT & For

Osmosis

AT & AT

Diffusion

SRR EX T

C



Question Description

Correct Answer

Marks

The Election Commission of India is responsible for the conduct of elections to which of the following offices?
N & IHTT AFRT A oAfad 7 & i FaTeT & (A0 9419 v & (G0 e 872
1. President

TSt

2. Vice-President

ERILZE ]

3. Parliament

g9

4. State Legislature

T faamHsT

5. Panchayats

EEIRKE

Which of the above options are correct?

I H T S e qarg?

1,2 and 5 only
FqT 1, 2375

1,2,3 and 4 only
FaT1,2,3307 4

3 and 4 only
FaT 3T 4

3,4, and 5 only
FaT 3,4 375



Question Description

Correct Answer

Marks

Which one of the following is NOT a major Coco producer country?

Freferfad & & F U T a Jeqaed 397 Taie ?

Latvia

ISIERIS

Cameroon

FHET

Ghana
CIGIN

Ivory Coast

A=A AT

A



Question Description

Correct Answer

Marks

With reference to Surya Sen, which of the following statements is/are correct?
I 9 & g 7, Refofad & & fi ar/d &9 98y 8/47?

1. He supported the enhanced role of women revolutionaries in the national
Movement.

RIS ARAT & ATEAT ShifAara T i qEdm s a qe = & |

2. He was opposed to the idea of Non-Cooperation as propagated by Congress.
TE U ERT TETE STTETNT & (9= & faersr o |

3. He led the Chittagong armoury raid.

IR FEINT IS BT e T |

Select the correct answer using the code given below.

T R T Fie # TH0T 7 Far 397 gAT

1 and 2 only
FIA 1307 2

2 and 3 only
FIA 2 37 3

1 and 3 only
FaeT 1307 3

1,2and 3
1,237 3

Cc



Question Description

Cc

D

Correct Answer

Marks

Match List-I with List-1l on the basis of codes-
FreeTTertere e & ST T G| & -1l & e A
List-I (Mughal Ruler)

- | (FTeT 9ITE)

A) Babur

EIEES

B) Humayun

RIRS

C) Akbar

HRIL

D) Jahangir

Tt

List— Il (Place of Tomb)

T - || (AFaT & 2I)

1 Kabul

EIENE
2 Delhi

e

3 Sikandara
faear

4 Lahore

AT

Codes:
Fi

A-1B-2C-3D-4
A-2B-1C-4 D-3
A-3B-4 C-1D-2
A-4 B-3 C-2 D-1

A



Question Description

Correct Answer

Marks

This river originates in the ‘Raksas tal’ near Mansarovar at an altitude of 4,555 m in Tibet where it is known as Langchen Khambab. It flows almost parallel
to the Indus for about 400 km before entering India and comes out of a gorge at Rupar.

The above passage is talking about.

TE Tar fead & 4,555 HieT f F978 I qHEUET & Hee TE Tl § fdedr & Sal 39 =T G & A ST A9 8 TE R § G S T I8 AT
400 BT a& g & FAFTaT a5ar 8§ 30T T9S 7 I | 77 Adr 8 |

IR TSI H T AT e |

Ravi

TEr

Brahmaputra

ESEE)

Chenab
SEICH

Satluj



Question Description

Correct Answer

Marks

Which of the following countries border the Bay of Bengal?
Frearforfae 5 & & & 97 J9ITT T @TST A AT AT w87
1. Nepal

EEI)

2. Bangladesh

FrATRIT

3. Sri Lanka

s

4. Myanmar

=AY

5.Thailand

RIET

Select the correct answer from the codes given below

e BT T fie | Har 397 @ 99T e

1 and 4 only
FacT 1377 4

2, 3,4 and 5 only
FaT 2, 3,435

1, 3,4 and 5 only
FaT 1, 3,435

1,2,3,4and 5
1,2,3,430%5

B
2



Question Description

Correct Answer

Marks

Question Description

Correct Answer

Marks

The ideal of residual powers in Indian constitution has been taken from the constitution of

VAT ST & G 9rse Srfadat i esr dd Saue & foar war 872

South Africa
afaror STt

Canada
ETIEE

Japan

USA

A bill for the creation of a new State in India is required to be passed in Parliament by?

T & T T & AR & BT fareraes @ 99 5 aria &9 i savg&ar a8 2

Simple majority

HIEM SgHT

Two-third majority

ar foare agAa

Two-third majority plus ratification by half of all states

ar farg agAa o7 Ay F ATUR TS A AT

None of the above

IYET H A Tar

A



Question Description First cyberlaw which provides the legal infrastructure for e-commerce in India is
A 5 E-FAE & (AT FAT ST ST T2 &Y aTAT T8l JT5a7 a6 8

A The Information Technology Act, 1996
=T ST i 1996
B The Information Technology Act, 2000

=T ST srfafzeT, 2000

C The Information Technology Act, 1998
=T St st 1998

D The Information Technology Act, 1990
=T ST i, 1990

Correct Answer B

Marks 2



Question Description Which of the following Fundamental Rights are available to foreigners?
freaferfaa & & f & Atfas stiyar fasfoat & AT e §2
1. Article 14

A=us 14

2. Article 20

AR 20

3. Article 21A

AT=2% 21A

4. Article 25

AT=9x 25

Select the correct option.

Tar fadeT & =9+ T

A 1,2 and 3 only
FAA 1,207 3

B 2,3 and 4 only
Fa 2, 39V 4

C 1 and 4 only
FaT 12074

D All of the above
ERRESR:E

Correct Answer D

Marks 2



Question Description

Correct Answer

Marks

Consider the following statements regarding Fundamental Duties under Article 51A of the Constitution.
iU & =97 51A & aad Hifa® FaeAT & ga § fetofad o1 9% fa=9w S T

1. The list of Fundamental Duties has never been amended after the introduction.

Htferes oAt G AT B o AT T T S Ta e T R

2. Article 51A was introduced by the 44th Constitutional Amendment during the tenure of the Janta Party.
STAT TIEf & A H 44 Saam S8 g7 S=a8 51T & 997 T i or |

Which of the above statements is/are correct?

IR FIAT H T RIT-AT/A Tar a/a?

1 only
FaeT 1

2 only
FaT 2

Both 1 and 2
13T 23T

None of the above

YT H H AL T4

D
2



Question Description The concept of carbon credit’ originated from

FET HST A HATIWUT & Ica(d § 55 &

A Earth Summit, Rio-de-Janeiro

B Kyoto protocol
FIET TR
C Montreal protocol
HF -
D G-8 Summit, Heiligendamm

ST -8 forae av e, e

Correct Answer A
Marks
Question Description Which institution launched the ‘ATL Marathon 2022-23-innovation challenge’?

e FRIT T 'TETUe BT 2022-23'-FAT99 SoA ST Al AT ?

A RBI
AT
B NITI Aayog
Trfer =T
C SEBI
gar
D ISRO
B
Correct Answer B

Marks 2



Question Description With reference to the radioactivity, which of the following statements is/are correct?
feamrafear & g 7, fFefefad & F S 9U/E #9995 8k ?
1. Radioactivity is a nuclear property.
g fiaT v T Hi
2. Hydrogen bombs are prepared on the principle of nuclear fission.
ATESIS a7 T s & frgia 7% 9w T smar & |

Select the correct answer using the codes given below.

I BT T e & F40T & Far 397 gAT
A Only 1
FaeT 1
B Only 2
FaT 2
C Both 1 and 2
gFT 1377 2
D Neither 1 nor 2
Tar1=iwTar2
Correct Answer A

Marks



Question Description Which of the following is/are the architectural features of a Buddhist stupa?
Freferfaa & & F-a7/A 9 &7 f SIe faeryar /472
1. Vedika
Tl
2. Yasti
Tfer
3. Medhi
ey
4. Harmika

T

Select the correct option code:

qET fahe T fie & TG H

A 1,2 and 3 only
FaT 1,237 3

B 2 and 3 only
FHIA 2 37 3

C 1, 3 and 4 only
Fad 1,337 4

D 1,2,3and 4
1,2,337 4

Correct Answer D

Marks 2



Question Description

Correct Answer

Marks

Question Description

Correct Answer

Marks

Which among the following methods can be used to remove the permanent hardness in water due to calcium or magnesium sulphates?

e a1 FToEe Gothe & FOT TFT H ST FoldT #1757 F9 & (o0 Artafad & 9 e fafer i 5@ far ST deaar 272

Sulphonate method

qodie fafer

Nitrate method

g fafyw

Zeolite method

freferee fafer

None of these

TH F A TR

C

Who established the Servants of India Society?

Lala Lajpat Rai
ATAT AT T

Bipin Chandra Pal
frfa =% arer

Gopal Krishna Gokhale
T ST I

Bhagat Singh

W foE

C



Question Description

Correct Answer

Marks

Question Description

Cc

D

Correct Answer

Marks

The battle of Tarain (1191 AD) was fought between Muhammad Gori and-
TIET & IE (1191 F.) HEFA T 7Y & d= ST 9T 4T

Rana Sanga
T FET

Rana Pratap
MR ISIEE

Prithviraj Chouhan

TR STE

Rana Hammirdeva

TUT FEIRET

C

When was India’s first National Action Plan on Climate Change (NAPCC) launched?
FAATg, THaaT T AT A T8ell Tl & Ira=r (NAPCC) & & &r 7% 41?2

2010
2008
2001

2006



Question Description Who was regarded as the father of Electric telegraph in India?
A H Soifaed SolUTHh 91 ST=Teh el HHT ST 872

A Lord Canning
&t FHT

B William Bentinck
fafemr 4=

C Lord Dalhousie
TS SRS

D None of above
IS T #E TE

Correct Answer C

Marks

Question Description Safe Water Releaser (SWAS), Safe Thermite Cracker (STAR) and Safe Minimal Aluminium (SAFAL) were seen in the news, these are

HF q1e? Fitae (SWAS), I 9975 et (STAR) 307 & frfeer uegdias (SAFAL) 9HERT H &% 0, T8

A Mining technologies
T SRR

B Bio-Fertilizers
EEEEEED

C Oil Spill controllers
SEAGICRPEED

D None of the above
IIET H T FE T8

Correct Answer D

Marks 2



Question Description

Correct Answer

Marks

T. Malthus propounded one of the most famous theories, called ‘The Malthusian Theory’ which is related to

AT T T AT I A A qa T gt § U a SaTRe @A, S EE T v

Poverty
TEET

Population
STEAT

Unemployment

ERELaS

Economy

©

ST



Question Description Tillyardembi Fossils of the world’s first plant pollinators called tillyardembiids was discovered recently in which country?

BT & H e g i oS frae e dg ST arer §HET & 980 GHe TITUTh T & [Eea TS T STraTas & @ISt @ g qr?

A Greece
T

B India
HTd

C Russia
A3

D China
E1GH

Correct Answer C

Marks



Question Description

Correct Answer

Marks

Consider the following statements regarding campaigning for elections.

AT TAW & a9 { Ffafad #9491 I = #f )

1. There is no limit on the campaign expenditure by political parties as a unit.
T SHE & & H T AT T T T A FS QT T80 8 |

2. There is no prescribed number of star campaigners for bye-elections.
IIATT & (AT T (F7) Tt dF G947 faThd &t 8|

Which of the above statements is/are incorrect?

TR & T i a7/ FI7 TAT 2/ ?

1 only
FaeT 1

2 only
FaAT 2

Both 1 and 2
190 23T

None of the above

IS H F #E T8

D
2



Question Description Climate represents.................

A The long-term average weather and its statistical variation for a given region

it T T e For Ao sivr st 9ie g A e e

B Weather averaged over a year
UF ay & ST FET
C It is a measure of variations in the amount of precipitation
TE YT i HET F e A
D None of the above
ERMESR R EETER
Correct Answer A
Marks
Question Description What is the name given to the phenomenon whereby certain materials, such as quartz crystal, generate an electric current when subjected to mechanical
stress?

I AT & F4T AT FmT 74T & e g qmr, S Fares e, gt aara & ST & I f9Rpd yars SereT dvar 872

A Pressure
EEIER
B Friction
YT
(03 Wave Energy
TOT FAT
D Piezoelectric effect
IEIERIE=C I
Correct Answer D

Marks 2



Question Description

Correct Answer

Marks

Simlipal National Park is located in which of the following states?

T T I et § T e e 8 fera 87

Madhya Pradesh
T J&9T

Kerala

Excs

Tamil Nadu
SICEEIES

3

None of the above

IS F T #E TE

D
2



Question Description Which of the following is/are Earth Observation Satellites of ISRO?
F=T 5 & -7/ S99 9 3 SATeaq T Seerse g/a?
1. HySIS
HySIS
2. RISAT-2BR1
RISAT-2BR1
3. CARTOSAT-3
FeHe-3
Select the correct answer using the code given below:

I BT T die & TA0T & Far 397 gAT

A 1 and 2 only
Faer 1307 2

B 2 and 3 only
FaT 2 3T 3

C 1 and 3 only
FgeT 137 3

D All of the above
IS T

Correct Answer D

Marks 2



Question Description

Correct Answer

Marks

Question Description

Correct Answer

Marks

The Ninth Schedule was introduced in the Constitution of India during the prime ministership of

AW & ST H THET AT o TIRHIed Fe & G 997 & T8 477?

Jawaharlal Nehru
TATETAT T8 E

Lal Bahadur Shastri
AT TR AT T

Indira Gandhi
T TG

Morarji Desai

RS <678

A

Which one of the following is a scalar quantity?

Feferfaa & & a 0@ SR T e ?

Force
gt

Pressure
EHER

Velocity
T

Acceleration
T



Question Description

Correct Answer

Marks

Consider the following statements regarding Voter Verifiable Paper Audit Trail (VVPAT).

e FATRTES 97 A o (@a1e) & qa9 & ferforfad wy=t o fa=w ffe

1. It is an independent verification system which provides a means to audit the stored electronic results.
g U T o FeATIT TUTEAT & ST SUarT Seidel fa TROTHT i T TREqor vl & areT Ta- &l & |

2. The VVPAT system was first introduced in the 2019 Lok Sabha general elections.
ATETTET TOITSAT & Taelt a7 2019 & ATREHT A AT H T97 @1 97 o7 |

Which of the above statements is/are correct?

IR T i a7/ FIT Tarafa?

1 only
FaeT 1

2 only
HaA 2

Both 1 and 2
13T 23T

None of the above

YT H H AL T4

A



Question Description

Cc

D

Correct Answer

Marks

Arrange the following species conservation projects in chronological order as they were started by the Indian government
AT B G 9% & 178 ATt d Tl S3aror TRASTTH i AAThiHE i 7 AT i

1. Project Tiger

KIS ECRCIEILy

2. Project Elephant

SiarFe arT

3. Project Snow leopard

S =1 TS (& dgem)

Select the correct answer from the codes given below
TN BT T e & 9E T 39T & 99 i

2,1,3

3,1,2

1,2,3

1,3,2

C



